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Black Hammock

Fern Camp

Flagler Trail

Hobes Grove

Joshua Creek

Wolf Creek

Bull Creek

Cassia

Green Swamp

Lake Jesup

Reedy Creek

Three Lakes
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Distances Hikers Start Points End Points

8 miles

9 miles

10 miles

11 miles

12 miles

13 miles
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Clues for Logic Puzzle: D632XC

1. Lana didn't finish at Joshua Creek.

2. The six hikers are the person who finished at Black Hammock, the person who started at Bull Creek,
Freddie, the hiker who started at Reedy Creek, the person who trekked for 12 miles and the hiker who
trekked for 11 miles.

3. The hiker who finished at Hobes Grove walked 3 fewer miles than the person who started at Lake Jesup.

4. Jan didn't go exactly 12 miles.

5. The person who finished at Flagler Trail is either the hiker who trekked for 12 miles or the hiker who started
at Lake Jesup.

6. Meredith walked 1 mile less than the person who finished at Fern Camp.

7. The person who trekked for 12 miles didn't start at Green Swamp.

8. Jan is either the person who started at Cassia or the person who finished at Wolf Creek.

9. Pauline walked 1 mile more than the person who started at Three Lakes.

10. The person who trekked for 11 miles is either Lana or the hiker who started at Three Lakes.

11. The hiker who started at Reedy Creek walked somewhat more than Freddie.

12. Pauline walked somewhat less than the hiker who finished at Flagler Trail.

13. The hiker who finished at Hobes Grove walked 1 mile less than Freddie.
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